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1.

what is the duty of teacher in

gencrating motivation among the

learners ? *

(Al To advise the learners from time
to time

(B} To rebuke occasionally for
mistakes

IC) To accept the level of success as
one can attain

() To maintain very high standard.

How can the interest of the learners

hF.ma.intainﬁd ?

(&)  To deliver good lectures

(H)._ To cite good examples from the

| text-books
() To cite | examples from the
" learners familiar environment

[i}'i To check studies cveryday.

The knowledge of learners’ emotion 1s

essential for teacher., One of its

rgasons is, teacher can

{a) remove anxiety of the learners

(B) -control anger of the learncrs

(C] keep the leamners quiet by
threats of examination

(D] stop amusing behaviour.

Which one of the Acts is not related Lo

inelusive education #

A} Right to Education

B} Prevention of Child Labour

(C} Prevention of Corporal
Punishment

(D} Custody of the Special Need

Children,
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What is the meaning of

comprehensive evaluation ?

(A} Evaluation of the whole
curriculum

(B} Evaluation af all-round
development

&} Ewaluation of the whole
intellectual ability

(B) Evaluation of all students
simultanecusfy.

Effective way to know about a

student is

(A) evaluation

(B] play

(C) visit his home

(D} observation.

What will you do if a student is

repeatedly  teased by  ancther

classmate ?

{A] Punishment of the classmate

(B] Separate sitting arrangement

) Counselling of the classmate

(D} Call the guardian.

How can teacher identify brilliant

students ?

(&) Omn their examination result

(B} Observing their classroom

() ‘Getting family history

D) Based on the relationship with
other students,

What is the best way for a teacher to

maintain discipline in the classroom ?

{A) To assign group tasks ,
(B) To lecture about the need of
discipline

(CI To lodge complaint with the
headmaster

(D) To impose strict punishment.

Cause of failure of students is

(Al lack of memorization power

(B) not to strive for assimilation

{C} absence of frequent tests

(D] not to follow the teacher.
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Modern cducation system is
(A}
(B)
(<)
e}
What is meant by concept ?
1A
(Bj
(€]
Dy

curriculum centric
child centnic
bookish

teacher centric.

Specific knowledge
Judgement

Picture
Imagmation.

In which stage of life development
does child start te speak 7

(A
B
()

Infancy
Late childhood

Adolescence

(D}  Early childhood.

The first socialization of a child is
fagilitated by

language

isolation

observation

b

(C} vision

(18]] in:l.agtnﬁtiun.

As a result of cooperative learning
among the learnecrs

A
(3}
(<)
(2

learners become self-rehant
all learners learn equally
learners' motivation declines

they do not feel the needs for
teachers.
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18,

19.

20,

21.

Which one is correct ?

The gifted children

(A) are always calm and guiet

(B] always behave extraordinarily

(C) solve problem qguickly

(D} perform any task quickly,

How can you remove anxiety from the

learners #

(A] By never imposing punishment

|B} By granting complete freedom in
the classroom

(C] By showing no bias to anybody

(D) By Iadviaing them not
ANXIOUS.

The way of teaching the learners
about environment is

{A] to get them acquainted directly
with the environment

(B] to make them aware about the
various problems of environment

(€] to teach the environment related
contenis in various subjects

(D} toteach environmental science,

.ﬁ_ccurﬁtng to Vygotsky

(A) culture is the outcome of

[B) culture is the
ducetion

(C} culture 15 the only determinant
of education

(0] culture is the facilitating f.'a.r:ti;r
of learning.

Mathematics learning of children
depends on

{A) maturation
(B) intellectual ability
(C) interest

(D) development of
reasoning.

o bhe

traditton of

spatial
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23, Which one of the following is not
related to creativity ?
(&) To think gquickly
(B} To perceive relation between
impossible things
{() Work hard continuously
([} To solve problem in a novel way.

23, How can one understand the extent
of student's learning readiness ¥
[4) Spontancous interest
(B) Correct answer to the teachers

gquestion

(C) Requesting teacher to dictate
notes

(0] Completion of home task
regularly.

24. In cxamination copy most of the
~ students have committed errer in
nswering a question. What may be
alt probable cause ¥
{4} They did not.pay attention in the
classroom
(Bl They did not study it at home
HL‘-] The language of the gquestion
waam:ilnmp:r
(D), The. teacher did not say that it
was important.

25 oSometimes the first generation
carners may be inattentive in the
class, because
\A) there 1s none to help at home
(B} has to perform many household

work
iC) there is lack of cffort in studies
'iD]  difficulty in understanding the
teacher's language.

26, Who is known as the father of child

centric education ?
{A) Dewey
(B} Froebel
(C] Montessor
(D] Rousseau.

6001
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27. '{Fﬁﬁ BN AT Sy o e v 27. Who conducted the factor analysis of
intelligence first of all ?

(4] =«
(A} Thurstone
(B) Tr&amE
(B) Gardner
(C] AT
(C} Carroll
(D) =A== |
(I} Spearman.
28, Afgemia fea sow  oumesTy, @
it 28. Reading of literature is essential for
children because the child
() W T = (A} acquires knowledge

(B) T Rabng 25 [B) develops imagination
(C) W = wrwE =W {C) acquires difficult words
(D) e g3 (D) builds character.

20, Feowm e afetay orl oy Teoim 29, Individual  differences occur among

il children due to

(A wY e TR {A) heredity only

(B) ®Y sfataoe 2 (B environment only

(C) % ZeE FHeE (€] growth

(D) =9d BT T | [0} eombination of first two.

30, What may be the probable cause of

30, R IR AFF qEH T FAE HER 9
mistalée in writing the same spelling?

+F 50E I 7
repeatediy ¢
a) s e T e
{A] Learming disability
(B) 4fRg W

{B)] Low wision
AR e .
[ &= (C) Tendency to commit mistake

(D) ¥ & (D] Low intelligence.
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SECTION - II
Language - English
There are 30 gquestions in all in this Section.
All questions arc compulsory.
Part - A
Yrection ©  Read the following poem and answer the guestions (31/61 — 37 (67) that follow :
Fulility
Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke bim, even in France,
Until this morning and this snow.
if anything might rouse him now
The kind old sun will know.
Think how It wakes the seeds —
Woke, onge, the claysofia cold star.
Are limbs so dear-achicyed, are sides
Fall-nerved, — still warm, — 1o hard o stir 7
Was it for this the clay grew tall ®
— Or what made Ea.iuméél_ sunbeams toil
To brealk earth's sleep at all ?
31/61. The meaning of the |ine "Wele, oner, the clavs of acold star® is

(Al broke the cold star into pleces

(B]  brought life into the cold planet now called earth

() made the ciays of the planet -

{D} made a cold star warm.

"32/62. if anything is capable of awakening *him" it I8
(A] the warmth of the sun {3} the sun alone knows
: (C)  the daylight () the morning snow.
33/63. The poet "urges to move him into the sun " because
A) it 15 warm (Bl it woke him once earlier
(] it is day-time (D) it will ease his pain.
34/64. The sun “always’ woke him in
(A] England iB) Indla
(C1 Italy D} France.

BY5990 [6001 | | B.T.O.
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35/65, “Was it for this the day grew tall" — s an example of
iA)  metaphor ] (Bl  metonymy
{C) chiasmus {3 alliteration,

36/66. ... what made fatuous sunbeams toil ,.." is an example of
(Al synecdoche (B) periphrasis
IC}  personification (Y simile.

a7 BT, The general tone of the poem can be described as
A}l sad and tragic (8)  full of mirth
(€} =satirical (D) humorous,

Directions :  Read the lollowing passage and answer the questions [ 38/68 — 45,75 | tha

follow ;

First introduced in 1927, The Hardy Boys Mystery Stortes are a series of books
about the adventures of brothers Frank and Joc Hardy. teenaged detectives who salve
one bafiling mystery after another. The Hardy Boys were so popular among young boys
that in 1930 a similar series was created for girls featuring a sixteen year old detective
Nancy Drew. The cover of voliume of The Hardy Boys states that the author of the serics
Is Franklin W. Dixon; the MNancy Drew mystery stories are supposedly written by
Carolene Keene. Over the years, though, many fans of both the series have been
surprised to find out that Frankiin W, Dixon and. Carclene Keene are not real people.
Who then wrote these books 7

The books were written through a process called ghost writing. A ghost writer
writes a book according to a specific formula. While they are paid for writing. their
authorship Is not acknowledged and their names do not appear on the published
books, '

The initial idea for both The Harillf “Baysand the Naney Drew scries was
developed by Edward Stratemeyer, who owned o puhliﬁhmgmpany thal specialized
In children's books. Eﬂ‘ﬂumey—t—r notieed Increasing popularity of mysteries Among
adults and surmised that children would enjoy reading mysteries about younger
detectives with whom they could identify themselves, He first developed each book with
an outline describing plot and setting. Onee that is completed he hired a ghost writer W
convert it into a book slightly over 200 Pages. Once Stratemeyer approved the book it
went to the print.

Both the sertes ran for so many years and that is why. both of them had a number
of different ghost writers. However the first writer for each series proved to be the most
influential, He was a Canadian Journalist by the name of Leslie McFarlane. A few years
later Mildred A. Wirt, a young writer from Jlows, began writing the Nancy Drew books,
Although they were using prepared outlines both developed character themselves, Wirt
had been a star college athlete and gave Nancy a similar ability. McFarlane used
elements of his small Canadian town to creale Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic, Many teachers and

685990 300
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librarians objected to the ghost-writing process, claiming it was designed to produce
books quickly rather than create quality literature, S0me librartes — including the New
York Public Library — £vVeER refused to include the books in thelr children's collection. I
Iromically this deeision actually triggercd the sales of the books.

Regardless of the controversies ahout their literary merit. each series of books has
exerted an undeniable influence on American and even global culture.

38/ 68. A ghost writer is someone who
(A} writes about ghosts and strange events
(B does not receive eredit as an author
(C} invokes spirits and superna tural elements to write

(D) takes lot of money for writing,

39/649. What does the word ‘gurmised’ mean ?
(A} Guessed : (B} Questioned
() Knew D) Surprised.

40/ T0. The Hardy Boys and N.Eu:li:}.? Drew scries m;m:ated on the idea that
{A) mystery books for adults are popular
iB) children enjoy reading about characters they can relate Lo
() girls and Boys are not interested in the same thing
(D] the writer needed money.
41/71. According to the passage the Nancy Drew mystery series was introduced in
A) 1927 (Bi, 1925
c) 1929 @ 1930,
42/ 72. Which would be the appropriate title of the i;-a.auugé (g
‘ (A) Ghost Writing : A Way of Life
(B) The Dublous Yet Profitable Practice of Ghost Writing
() The Hardy Boys and Nancy Drew : A (Ghost Writing Series
o1 A Critique of Ghost Writing,
43/73. who was the real writer of the series according to the passage 7
A} Carclene Keene (B} Franklin W. Dixon
(¢} Leslie McFarlane (D) Hardy.
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Some teachers and librarians objected to the ghost wriling series because they

1A} disapproved of mystery stories
(B}  thought that the books were too expensive
[C)  believed that the books were not quality literature

(D} disliked the business practice behind the series,

Which of the following describes the author's attitude towards the series 7

(Al Balanced and respectful (Bl Doubtful and critical

(C]  Hostile but forgiving (D} Overwhelmingly appreciative,
Part - B

Answer the following questions by selecting one option :

Gender stereotypes can be discouraged by

(Al helping the boys to/accept failure

(Bl encouraging girls to take up Sports

[C)  asking girls to arrange for the snacks in a class plonic
(D) encouraging girls to take up challenging jobs in life,
Abstract lntclhgmr:ﬂ_. lIIE"-'EtIi

(A} verbal skills

(B]  manual dexterity

[C)  numerical abiity

(B} manipulation ™l symbols,

Today emphasis should be given to

Al electronic gadgets used for teaching-learning process
(B chalk-and-talk method of teaching-learning process
IC}  learning through foreign collaboration

(D} value based teaching-learning process,

Effective learning takes place when (he students are

[A)  quiet {B) obedient

(C)  interactive D} preparing for examinations.

[ 8oo1]
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50/ 80, A teacher can best develop communieative skills with the students by
(A} encouraging to speak in that language contnuosly
(B] giving dictation
i) correcting grammar and spellings
(D) giving students homeworks in that language.
b1/81. While communicating ideas in written form grammar has
Al a8 keyrole (B norole
{C) liberal role (D) none of these,
52 /82, Key principle of language teaching is
(A} to motivate the students in the process of learning
(B) to facilitate the learner-centered Mmm activities
(C)  to maintain discipline n the class |

() to show the teacher's iAsiery over laghos
B3 /83, In a language-teaching class the primary ekillis) to be developed in i 4

arg |
(A) Listening 1B} Speaking
{C} Listening and Speaking Léli Writing.

54 /84, A multl-lingual classroom is
(A)  students with differ cit mothex Lol s
(Bl students coming from cifferent regions
iC)  students with different culiures
4 (D) students with different social backgrounds.
_55;' 85, 'Overlearning' is the term used to describe
{A) practice thal continues after a perfect recall has been achieved

(B) the practice of learning over and beyond the requirement of a particular
class / age

(') the practice of spending too much time on studics

(D) the practice of overburdening the students with tasks.

GE5980 B0 1



56/B6.

BT I87

58/B8.

o8/88,

G0/90,

GRH290

20

Tasks to improve spelling should not include

A

(C}

reading B} listening

writing (D) use of dictionary,

Giving dictation is not useful for

1Al
(B8]
(<l

(2}

learning the correct form of the language
developing language skills
developing short term memory

helping students to spell earrectly.

How can language comprehension and proficiency be evaluated 7

[A)

(B}
14

)

By evaluating all the four skills in different periods of time throughout the

course
By evaluating all the four skills at the end of the course
By evaluating only reading and writing

By evaluating only speaking and listening.

What is the mam challenge of teaching language in a diverse classroom ?

1A]
(B)
(C)

D)

Facing slow and weak leaners
Facing a mixed-ability group of learners
Faring infrastructural problems

Facing the good students in the class.

While using problem solving method the teacher should

(A)
(B}
(C)

(o)

participate actively in the process
encourage divergent thinking
ask the students to consull their parents

look at the students' activities from a distance.
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There are 60 questions in all in this Scction. The candidates who have selected this subject
must answer all the questions.

g1, &= smsea ST e 5A 730, 97°, 9], Four angles of a pentagon arc 73°%
146° &%t 1387 | A= (Felha 99 977, 146° and 138° The value of the
(A) 113° fifth angle will be
‘E] II:HI-:- I:.."L' ] 13“
[C) 86" {B] 104°
(D) 83~ &) Bb®

92, AWEEEF ABCD € ABEFER (WaTE (D) 83°
oFPwE WAW AF0 EEE e YRS §2. The areas of the parallelograms ABCD
ha pEFE and ABEF are equal. If their heights
@A h>p be h & p respectively, then
(€] h=p Bl h<p
D] e = | ICr—h=p

{M}  none of these,
93" [k the figure below, AR| | CD, then the
value of £ BGE is

/ F
3 H 5 o
x e D
= Y
B on” +
A /G A = B
i3
B /
E

g3, ow§ foo1 AB||CD %0, (BGESY
]

(A) 45°

i Sy (A) 45°

e (B) 120°

D) 270 (c) 1352
(D) 270°.
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A A Ui v

(A
(B

Q5% 45°, 50¢
95, 45°, 40°

[C) 65° 85°, 50°

(D) 65° 55° 25¢

A% FATR Ay 32 con T 5 oy me
FAE U Al et A e A
(EF 16 9 57, w7l o=

[A] 83
(B) - 44
[C) -83
(b 12,

(O QG AU . q%4 TR 5 q%A
ST @ 5 159 *ET IN0W TAe 5

1Al 15 -x): 18+ x)
[B) {x-5)x+5)
(C) (10 + k)i

D) (x+5):(x-5)

(22417 = 4x? 4 dx 4 1, @lfeafp

[a) ST

(B) e

(C) Seriites
D] cwEDE #y |

RSP ¢ TFAETT TG 19 « 20 20,
TS Whow 1N TR

(A] 10%
(B] 7-3%
{C} 5%
(D) 2:5%.

a8

94. With which of the following angles, a

g5,

98.

6001

triangle can be formed 7

(A] 95° 45° 50°
(B] 95°, 45°, 40°
IC} ©5°, 85°, 50°
[0} 65, 550, 257

When 32 is added to a number and
then multiplied by 5, the product
becomes 16 less than the original
number. The number js

Al B3
(B] —44
iC) -83
(D) 12.

If your present age is x, then the
ratic of your ages 5 vears before and

; Eyrﬂ_rﬁ"jﬂl'tr_r the present is

(A) {5+ x) (5 + x)

(B) fx - S)iix +5)
Cr—{1rrxrry

D) [x+5):fx-5).

IZE;#'TI-IF_' wl}ﬂ:?-&i-ﬂlx 1. Thig ig an
{B} identity

(€)
(D}
If the ratio of sale price and purchasc -
20, the percentage of

inequation -
none of these,

price is 19
loss is

(A) 10%

(B) 75%
C) 5%

(D) 2:504,
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101.

102,

103.

104,

a3 e 20% A sAE Fwol
oy g0 | FeAmi @ ¢

A} BO

B) 70

iy s

(D) B0,

(p+g)=8 4T (p-g)=63F pgdd
W

Ay 7

B 14

[ 21

(D) 28

4,7, 12-a8 554 TS 79

A} 28

B3 21

(C) 14

(D) 35.

50-49 x % = x-S0 Y% S fEm WK
=L -

]
(B
C)
(D)
dx
LTy
[A)
iBl
i<
D] 5.

55 kg FPrEET 25 ke W o HAEEM S
QT Tl e W TSTE FE 7

(A} 11:5

(B 5:6

Cy 6:5

D) 571k

25

50

75

100.

_2yz + 527 @8 ATMEE HT

2

[ R 3

o9

9.

100.

101,

102,

If & number is increased by 20%, it
becomes 90, The number 15

(A} 60

B} 70

[€) 75

(D] 80.

If ([p+g)=8 and (g - g)=6, then the
value of pg will be

(A} 7T

(B) 14

ic) 21

D} 28,

The fourth proportionate of 4, 7 and
12 is
(A

(B
(

(D) . 35.
If x % of 50 = y % of x, the value of
y will be
(A 250
(B} 50
B o w4

103 The ~number of vanables in the

104,

695990
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tﬂ?m.'s-l!mat’)—ﬂﬂl -I-.;E':lz2 18

A) 4

B) 3

[C) &

o .

If 25 kg of zinc and the rest amount of
copper are present in 535 kg of brass,
what will be the ratio of copper and
rine there ?

[A) 1I:5

(B) 5:6

€} B35

(B H5idl.

| P.T.O.
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105. @3 My T A7 w9 Baey
yourea fewe | A-a9 e 428 GEm
=, 599 Frent &9

(A 214 5@
(B) 556 e
(C) 107 Bram
(D) 656 5r)

106. <26 vogmea w6 wwmm o s
90° @I Fufeize s OF seEeE
1 =Y
(A) TR
(B) HrElae
(C) w8
(D) TreiiEm

107, @3 e qoge ool wmaemm W
165° 20, augefbe anEsey) 55
(A} 12
(B} 24
i) 6
(Dy 8.

108 7w flge AaBCw@ws W9 &
ZA - T0° T Aea (e Fooidlh wide ¢
iA)] AB> BC
(B] AB< AC
[C} AC> BC
(D) AC < BC,

109. 93 gerew W foow, oFh

THEICT W 25° S0, ORI AN
A} 7585°
(B} 11g°
(C} 130°
(D] 155°,

693990 Iﬁﬂnl

105

106,

107.

The principal amount of A is twice of
8 in a joint business. If the profit of A
is Rs. 428, then the profit of B will be

(A} Rs. 214

(B] Rs. 556
[C) Rs. 107
(D} Rs. B56.

If the two diagonals of a quadrilateral
are unequal and bisect each other at
right angle, then the guadrilateral is
said o be

|A) square

(B} parallelogram
(C)] rhombus

(D} trapczium.

If each interior angle of a regular
polygon is 165° then the number of
sides of the polygon is

(A} 12
B} 24
ic) 6
) -

108 The '-rﬂrﬁm.[ angle £A of an isosceles

105,

tri.rmgh ABC is 70°. Which of the
It ﬂtﬂlﬁiﬂtﬂlﬂﬁﬂﬂ is correct ?

(A} AB= BC
(Bl AB<AC
[©) AC=BC .
(D} AC< BC

An acute angle of an obtuse angled
isosceles triangle is 25°, So the value
of obtuse angle is

(A} 75-5°
(B) 1107
(€] 130°
(D) 155°,



110.

111.

112.

113.

L14,

695990

ABC fusmen AB3 wyfey D, &3t
DE||BC. BC =7 cm SF DE-&7 9F
£

A
D E
B 3

(A) 14 cm
(B} 7cm
(C) 35S cm
(D] 14 cm.
(x+ B){x - 3)-8 x-807 HIH T ?
(A 1
B} 2
() 0
o) -1.
2 —Bx+15 m%amﬁqﬂ
(A} [x-5llx+3)
B) (x-8)(x+T)
©) (x-S)ix -3
(D) f{x-Bix-The

a2p?, a?p?, ofp°-E@ AEepaza’
E posd W 20

61

110,

31,

112

I

114.

Ay 32
B) 24
C) &
D). 2.
g% afin mewn o bt FEEGE
AAMS. (o + b) T AA S @
(a)  la? + 57
(B (a%-ab+b”)
i) ta? +2ab + b7
D) (a® +ab+b?).
6001

In AABC, D is the mid-point of AB,
DE||BC. if BC= 7 cm, then the value
of DE is

A

B
14 em

7 ocm

{C)] 35cm

(D) 14 cm.

The coefficient of x in the expression
[x + 3)x - 3) is

(a1

B 2

g o

oy -1.

Thefactors-oba’—8x + 15 is

() x- Sie - 3

B Ei’—;ﬁ'ﬁx+ 5

€] (x - S)x - 3

(D] [x-Bix-7].

i the LCM. of a’b®, a’t®, a'p’
32a’ , the value of bwill be

A 32

b

iC) 6

D) 2.

The product of two terms is g 4 b
and H.C.F. of the two terms is {a + b},
So L.C.M. will be

(A}

LA
(Bl

15

1{12 +bzb
B (a® -ab+ b
(€] (a? +2ab . b°)

D} (a? +ab+b*).

| BT.O.
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115, 190499 = &#H 115. The cube of 199 is
(A) 7880599 (A) 7880599
(B} 9703011 (B) 9703011
(C] 7680951 €] 7680951
(i) 6879001, D] 6879091,

116. 063 -&F Sy 7= .
116. The fraction of 0-63 is

63
Ay 83 63
l st
IEE W oo

B L2
63 @ 280
4 &3
{CJ T o
) i1

11
1oy g 11
o A
(D) 3

117. A 6 B-S% 9505 1% 10 949, B @ €99
TUGE G 15 948 992 A & .84 e
TE 20 7| A, B4 -89 1907 i

117.The averagé sge of 4 and B is
10 years and of B and C is 15 years
and of A and @ is 20 years. What is

ﬁ 2 - ' s !
Al 12 the average age of A, Band C?
25 959 g
i : iA) 125 vears
(B 175989 RN A0
i T iCh 15 years
(D) 20 4511 (D) 20 years.
118. 129647 35 &9 115, The square root of 1296 is
(A} 24
(Al 24
(B} 26 2 26 -
C] 36 {C}] 36
e} 4%, (D) 44. ,
119.6:8, 32, 2.7, x 99 B2.47 515 5 5 119. The average of &8, 32, 27, x and
x-4% §H T 8218 5. So the value of x is
(A} 4 {A) 4
= B 51
g C) 41
(D) a9 i gl

695990 6001




120, 3 T @fire wefryrg o5 F4@E

(A 3

(B) =W

(C) GeitaE o oA gl

(D} R =E |

FwEmma ) wrETey medlh =9
(A) TfFRA

(B] CoEwTE

(C) SRR

(D) CaRERER

122, SeEaTeE G R (T e 5
(A)  EETER

(B) &RuHER

(C) YATATTIED

(D) ErGTAEG |

fiemen g ol gapEs A 85
A)  CHBTHLEH

(B) STEALEH

(C) i

121.

124,

124, gUgy AR T SWRET .o

125, T EHE TAWEIEE A 29
(A wEEEE
(B) @
[C) HF"H
(D) =g |
695990
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120,

121

122.

123

124

123,

6001

The average of threc consecutive
whole numbers is always

{A] even

(B) odd

(C] any of these

(D) none of these.

blood

Substance for

clotting is

(A} bilirubin
(B} prothrombin
(C)  albumin
D) .globulin.

The cell responsible for immunity is

important

(A)  lymphocyte

[B) erythrocyte

{C] thrombocyte

D] hepatocyte.

The name of a female reproductive
hormone is

|A) testosterone

progesterone

(€] gasirin

The pulmonary venous blood enters
.. thierse-ee chamber of the heart.
(A} right auricle

(B} left auricle

(C] sinus venosus

(O ventricle.

The name of the emergency hormone
15

(A) thyroxine

[B] cslrogen

(<}

(18]

glucagon
adrenaline.

| PT.0,



126,

127,

128.

135

FreaFRreaim @l oo ooy e
(Al Fhees

(B)  HHIE

C] =%

(D} EEs)

(TR W RN I AW 5

A) Teefbharems

(B AT

(C]  CapTETT

(D) CEFTCETE |

Frafefse com wmees wime aB ey
Ay wiew v

(A) S arsieery enfere

(B) =wiE Afs

(C) “NECIEN

(D) Enpas |

o R lE $Fn wwe o AT
) E

(A) TR

(B Eebg

[c) et

(D) =il

130. ¢4 =7 =n¥ioes (onfim ot um o 29

131.

132.

695890

Ao

it |

Rufan

e |

WIS oy| 7 T 9 2y
Al WU WF AR

(B) "W g S

(O] AP WY SEGTEG

(D) “WPGTE e eS|
Atera cawih wive weifaad) ¢
{A] T W

(B} <EFED

(C) ST 5%

() wiG)

(A
(B
(<)

64

126,

Y.

128.

129,

130.

131.

132,

6001

Which of the follewing is not a
component of phloem 2

(A} Steve tube

(B)] Companion cell

{C) Fibre

(D) Sclereid.

The site of protein synthesis in a
cell is

(A} Dictvosome

(B) Ribosome

{C) Mesosome

(D} Chromeasome,

Which of the following organelle has
many ribosomes attached to it 7

(A} Rough endoplasmic reticulum
(B) Golgi body

(C} Lysosome

(D] Vacuole.

The type of animals
cutanecus respiration is

4) reptiles

[B] amphibians

{C) birds

(L}  mammals.

The phylum of animals
presence of mesoglea is

(A} porifera

(3] mr:;uphnfa

IC) enidaria

D} platvhelminthes.

Acharya Prafulla Chandra Roy is
known as :

showing

showing

(A} 'Master of Sulphates'

{(B) 'Master of Nitrates'

[C) ‘Master of Nitrites' d
(2] 'Master of Sulphides’.

Which one of the following is the non-
conductor of electricity 7

(A} Gas carbon

(B} Ebonite

(C} Human body

(L) Seal.



133.

134,

135.

136.

137.

138

695990

e ofada e o SfeesiaEn WY
mofaalis yre sfaadics e o=
(A) eEEwEE AUETee

(B) AT YA TS

(C) SAESE ASET AP

(D) el ATt G |

aall il (FIET TeeEEE 17 5

(A} 108 volt

{B] 1:5volt

() 1-05 volt

(D) 1-8 volt.

e Twery aFfh e ©fE wIErLH o
s = B @ el w @

1A] e e giwa TR

(B) "SI B I HleTR I

(C) EnrE EW HNeuE o

(D) g |

Frafefse B 9o (oW wwEa o o
«fzs ¢

(A) CHTEFE]

(B) SIEETEHG]

C) SrEErE

(o) =

Fefficelm WD ST TR

Ay
LT

bl
fasrmbye Tme
e

Crffueaie cwie e geres
RS

(A} =8 WIE

(B) Wed W

[C) % WIE

oy TfE

(4]
(B)

65

133.

134,

135.

136.

yar.

138.

6001

Far a definite resistance and for the
definite time of flow of current, the
heat produced in a conductor 1s
proportional to

[A] the flow of current

(B) the cube root of the flow of
current

(C) the square root of the Now of
current

(D) the square of the flow of currenL.

The emfof a dry cell is

(A} 1-08 valt

(B) 1-5voll

(C}]  1:05 volt

(D} 18 valt.

Why does an ink-filled fountain pen
leak at & high altitude ?

(4] Atmospheric pressure increases
(B} Atmospheric pressure decreases
{C) Temperature decreascs

(B} Height increascs.

Which one of the following animal
body phyia has segmented body 7

{A]  Mollusca
[B] Echinodermata
|C} - Aschelminthes
(D} Annclida.

Which of the [pllowing is not a
ma.mm‘nlmqhtrﬁetrr'-*

(A} Pinna
(B)
(<)
()

Which one of the following does not
have accessory respiratory organ ?

Mammary gland
Three chambered heart

Hairs.

(A} Anabus sp

(B} Clarius sp

(C) Labeosp

(D) Heteropneustes sp.

| P.T.O.



139.

1440,

141.

142,

143,

144.

it com andia s gor Fefer o
218

e T4

() =

(D} =W

Fraas wag i W walh gn

(&) FFR

B) 9

[C) S

D) g |

Hit st [l gim oig il 2oy
(A EEnE pue

(B) chEes sy

() @l vy g werefl Sk ama
(D) @3 595 o 9E G PEF wmd

AR e e O NE
Efyearae oo o

(A) TS
By w=hms

(C] ™0

(D) =TT |

Fienfan <A af¥e o Somie 9 £q
(A)  wEha

(B) CHe]toER

() coeitn

(D) i

FraElvesiFa cnl wge Eiv = ¢
L L

(B) *iEvnmEan

(C) ey

(D) )

(A)
(B)

BS990
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139

140,

141.

T

143.

144,

HC)

Which one of the following animals’
locomotory organ is cilia ?

(A} Hydra

(B) Earthworm

Paramoecium

D] Amoeba.

The organ responsible for secretion of
bile s

{A] liver

(B) kidney
(C) pancreas
(D) stomach.

When repulsion occurs between two
substances then those two
substances are

(A}  both magnets

(B) both magnetic substances

(C) one is the magnet and the other
is non-magnetic substance

(B} onc is magnet and the other is
magnetic substance.

The elecirode which is connected o

the pasitive pole of the battery is

called

(Al cathode

(] cation

[C] anode

D) sien,

Casparian strip is made up of

{A) Chitin

iB] Cellulose

(C] Pectin

(D} Subernn,

Which of the following is not a green
plant ?

(A)] Lotus

(B) Spirogyra
IC) Aparicus
(D) Fern.



145, E5amfrelle om o et e
wwg wre Wi Al E
(a)  ceEEbE
(B) SEEEEEM
jc) e afE
(D) FTETHAIETE |
L6, ce omel afee’ Ao wielEs 2
(A)
(B} I
(C) FEE
(D} HFFRGI
147, @ BemmaiE & e
(A) i, SN ARG &4t B
HETD
(B) =, wEwE e T
[C) FFE, FEE 6 AR
(D) AP, e SEOL A9
»TITHu TS |
148, Al GET BT Peas 28
(A) TS ARG
(B) S HIETHITE
(C) =HEA GEEwEs
(D) e e
149, ey Towrn T T Aime o=
(A)  THETETS
(B) S
: (C) A=
« (D) e & e
150, B 30w BTy Swgad o
() I
(B) <dmm
i) e

D) |
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145, In an cukaryotic cell, the organelle

146,

147.

responsible for acrobic respiration I8
{A) Chloroplastid

(B] Mitechondria

IC] Golgi body

(D) Lysosome.

Which substance is known as
‘bucky-hall ?

{A] Diamond

(B] Gold

(C} Fullerene

(D) Graphite,

What are the components of Uun
powder ¢

(A} Carbon, potassium nitrate and
potassium sulphate

{B) Carbon, sulphur and bismuth
[€) Carbon, sulphur and nitre

(D) Sulphur, sodium nitrate and
potassium sulphate.

148, The substance usedi:i rocket fuclis

149,

150,

695900

6001

[Fioa]

(4) tquid nitrogen

(B]liquid hydrogen

|C} carbon dioxide

[ bguid helium.

The concept of stationary orbit in an

atom was proposed by

(A Rutherford

(B) Dalton

{C} Meils Bohr

(D} J.J. Thomson.

An example of a solution made of
solid in solid is

A)  fog

(B) smoke

IC} bronze

(D} adr.

[ P.T.0.
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fets - 1 (v)

warer fawr
Section - III (b)
SOCIAL STUDIES

ﬂﬁmﬁEEumﬁm:mﬁmﬁmnmmwﬁmmﬁm@ﬁﬁHm|

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

1. Frm e e e ¢ 91, Jaldapara is famous for
(A) &% =% nam [A] one horned Rhinoceros
(B) = (B) Tiger
([C) Prz (C) Lion
D) =% | (D) Elephant.

92, AT IR 92, Causec of air pollution is
(A) o (A) smoke
(B) == war (B} cleaning utensils
(C) == & (C) bathing
(D) e sy | (D} use of fertilizer.

93. w1y EEW vam wE 93, Mangrove forest is found in
(A) FrerE e (A) Saline soil
(B) . Fwgfewm (B) Black sail
(C) ere=e afies (C) Podzol
(D) PR = (D) None of these.

695990 6001




95.

a7,

woo T T oiewe 59
() e

(B) =g

(C) s

(D) =@ |

S 29 WHiE T
(A} EIHH

(B) e

(C) " anfiFm

(D) &M

- offdta «fam i

[A] W e

(B)
(C) aefiFe emgEa

D) GRw=E amEE |

eluw AR el 8 . W )
wFe]

Gt a1 B

(A}
(B) ammE

(C) Tuw i

(D) CPFGE T4 |

s et oo W S oy o6 oA
(B) FrF
CEDE Y |

(A T
(C) g

()

695990
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94,

Q5.

97

98.

6001

Landform which is 600 metres high,
14

(A) Plateau

(B} Plain

(€} Hill

D Mountain.

Earthquake prone region is

[A) Japan

(B) Australia

(C) South Africa

@ Germany.

Effect of revolution of carth is

(&) change of seasons

{B] oeccurrence of days and nights
(€} occurrence of flood

(D} eccurrence of earthquake.
The first humans came from

(A} Africa

(B) Asia
[C}) North America

(D} none of these,

The Tropic of Cancer passes through

(A) Krishnanagar
(B) Bankura
iC} Birbhum
(D) none of these,

| P.T.O.
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00, T op cafére enfame @ g 99. The Himalayas belong to the category
(A] EhE s o
(Al Fold Mountains
(B] o =#E
(B} Block Mountains
(C] =ewusE ; :
[C} Volcanic Mountains
(D) =R efe | (D) Residual Mountains.
100. M0 2=t FE 9 104. Project Tiger was started in
A sxas B) Shaedn (Al 1972A.D. (B) 1973AD.

IC} 1975AD. (D) none of these.
(C) Swas gt (D) PR /Y | i : T

101. Atmospheric pressure is measured

101. A5H BonpeE Tq = | v
(A AmEmfEGE (A] Barometer
(B snofifitm (B} Thermometer
(C) =ErfiEm ' (CREiarongter
D) | (D] Anemometer.

102. Rainfall of equatorial region is
102, Fredtn swem i @

1A)  relief
(A)  CITETIeCEw (B) yfare (B] frontal
(C) v (D) &% %% | {C) convectional
103, #fgSty ey aw | 95 == (D) drizzle,
1 . . . :
A R 03, Longest river in the world is
(A}  Mississippi
B A ,
(B) MNile
4 (C} Ganga
(B} #me (D} Brahmaputra,

695990 6001




104, wEqal =
(A) T
(B FEE
(C) e N
(D) o= cEen |
105, WIF1 @ 97 WoE &
(A) CeEaTHE wEN
(B) ¥
(C) =
D) CoEEE =R |
106. Free India Centre W i
(A] "
(B) waw
(C) - fears
(D) AR

107. Indian Independence League W
L T

(A) iR =

(B} TeFY ¥

(C) I e P

(D) Ji0FE CFE A |

7l

695990

6001

104 . Great circle means

(A} Equator
(B} Tropic of Cancer

(C) Tropic of Capricorn

(D) Pole.

. Dadra and Nagar Haveli is a

{A} Union Territory
(B) State
(C) District

(D} none of these.

. The Free India Centre was set up in

(A) Berlin
iB] London
(€. Tokye

(D) Rome.

107. The Indian Independence League was

set up by

{A) Rashbehari Basu

(B) Subhas Chandra Bose
(C) Captain Mohan Singh
(D) none of them,

| PT.O.



108. Direct Action-89 5 &%

(A)
B}
<)
(D)

109. C.R. Formula-% #73% =
(A) SEFE] ARETCSIeTE ]

(B)
|
(D)

110, "SR TR A1 07 25T
(&) GasEd] FreATsnoTEE]

(B
<)
e

sl
CATTETE

HHToE
CFWEIE &% |

ToaE w7
wlrEY 519
S CWE A |

mﬂH
TR ST
GHE B |

111, T3 ¥ EH o

(Al
(B

(<)
(D)

112. ¥0% sfew wm  Iepmsn Tl

T

i i
e
CEETE 7

st ¢

(Al
(8]
()

(D)
695990

TR
W
LB

AT S 7 |

T2

108. Direct Action was initisted in
[A] Calcutta
(B)] Bombay
(C] Madras
(D] none of these,
10%. C.R. Formula was forwarded by
[A] Chakravarthi Rajagopalachari
(B) Chittaranjan Das
(C] Rabindranath Tagore
{3} none of them.
110. Amar Sonar Bangla was composed b
(A} Chakravarthi Rajagopalachar
(B} Chittaranjan Das
(€} Rahbindranath Tapore
i) noneof them.
i 11. Babur was born in
(A} Fergana
(B] Delhi
(C] Ajmer

(D] none of these. 1

112, Captain Hawkins visited the court of
(A} Jahangir
(B} Akbar
IC) Shahjahan

(D None of them,

6001




13, S-E - A0S (T W FEE T

| 14.

115.

116.

(RIS

e

(Al
(B
(C] M=

(D) FGE AN
wrNEES e eia £
(A seya @
(B} 3920 45
(C) saeo @
(D) w980 43 |

f® s s o= &Y

(A) seyo 8h (B) swss 8k

[C) svoe @l (D) =g 7 |

Al Ao oo e TS

() T

(B) TwICTE
(C) EWEE

(D) <o s 7 |

o weE Temefe onise s sl v

(A) e FHed

B Fdw reos Rarnie
(C) e

(D)« = &

695990

T3

113.

114.

115.

Vasco-da-Gama came to India and

landed at
(A}  Khozkode
(B) Gujarat
(C) Patna
(D} none of these.

Farrukhsiyar’s firman was issued in
(Al

(€]
The Second Charter Act was passed

1717 AD. (B) 1720 A.D.

1730 AD. (D) 1740 A.D
in
(Al
(<)

1813 A.D.
1814 A.D.
1815°AD.

iD) mnone of these.

116. The last king of the Maurya Dynasty

117.

6001

Was

(A

Brihadratha
[C) Udayin
([} None of them.

Who was called Lichchhavi dauhitra ?
Chandragupta |

(B) Chandragupta Il Vikramaditya
(C] Samudragupta

14

(D) WNone of them.

| P.T.O.
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118, =rifar AW wfafee ov arm fefr gmm 118. Sakari was the title earned by
(A ouY pRad (A} Chandragupta |
(B) &8w rrea fusfi (B) Chandragupta Il Vikramaditya
(C) FHqras IC) Samudragupta

D) 8 (&% a9 | D} None of them.

119, wigEe ey a5 vu 118, The Aihole Prasasti was composed by

A {A] Ravikirti

(B} Gautamiputra Satakarni
(B} cMedemm Frow

(&) Vasisthaputra Pulamayi
(C) afiegn spered

(D Noneof them.
(D] dvmE @8 s

120, e =t owifers oEm

120. Pulakeshin I defeated

[A] Chandraguptla Maurya

(A) FHed dhfim _ (B)—Farshayardhan

B) iy (€] Nagabhatta 1

(C) dm g (D) Nome of them,

(D) oo cE = : 12]. River of South India is
% T o WO TS S (A} Brahmaputra

(A T B S

(C) Jamuna

(C) g D) TR _
ol 122. Royal Bengal ‘figers are found in

(A) e {A) Sundarban

(B} sifisaal «4ns (B] Western Ghats

(C] e oS (C)] Himalayas

D) S ey | (0 Garumara forest.
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124, CHIGH B G IS WA
(A) CEEEIER (B) wmfA
(C) wiEm (D) W |
125, sfoms A9 SISW 6T WA

(A) CETbRTSIO AR T
(B) o WmE
(C) wfswarmg g =W
D) e A BeEm
126, SHATE ARET MuEE W =
1Ay s% Albamer w2
(B) ye AfoenE e
(C) sa Afbae g
(D) CFERRTE |
127, FufaeH e I8
(A) TR B e
(B) 4 BICHE &
(C) e BITEE e

= BT el |

75

123.

124,

125.

126.

127.

6001

Main work of a river in its upper

course is

A} ecrosion

{B] deposition

(C)] transportation

(D) formation of meander.

Polder is the reclaimed lands ol

(A) Netherlands

(B} Germany

(C) Austria

(D) Scotland.

Rich deposits of minerals are found in
A} Chota Nagpur platcau

{B) Sundarban region

[E;} Plains of West Bengal

o]
The maritime boundary of India is
{A) 12 nautical miles

(B) 13 nautical miles

Mountain region of West Bengal.

(C} 15 nautical miles
(¥ nonec of these.
Black soil is suitable for
{A) cotton cultivation
(B) rice cultivation

{1‘.'.'.'! wheat cultivation

(D) sugarcanc cultivation.

[PT.O.
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128, ey 3'H g=fh 128. India is a
|A) s A (A] Developing country
(B] @we Mg (B} Developed country
C] Heom o 35e ¥

(€} Least Developed country
(D) I AE |

129, fi=erEw <8 ag v
(A) EreraEE tEerdtEl

(D} none of these,
129, Result of greenhouse effect is

(A} inversion of temperature

(B) R Fmewe (B) global warming
(C) Firer gm I€) industrial pollution
(D) 9= |

(D) food.

. EEOTETE W
130 i 130. Temperature is measured by

i S iA)  thermometer
VB ST (B)._barometer
(€ C) anemometer
i cla (D) seismograph,
131, R A T 131, Frontier Gandhi was

TN i {A) Khan Abdul Gaffar Khan
(B) P o (B) Khan Abdul Wali Khan
(C) =am 4= b

(C) Shaista Khan
D) AR (W A

(D) none of them.

132. V Gevare or O
132. Gorge is formed in

(A) A SwefEne

(A} upper course of a river
(B) 4 wfars

(B] middle course of a river
(C) i Frasifens

(C) lower course of a river
D) Ewamnes Swerfees |

(D} mountain stage of a glacier,
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133, weirR-aa el @
Ay 2ace ik
(B) 3¢ Teores
(C) x0T EFT
(D) 2eocn (TOHHE |

134, i Ao o qRsreye awe

(A  ECETE

(D) CaGE Y |

137, cwih BEEmm = wiee o

(A] Yoo 9l
(C) swox &

695990

(B) oy i
(D) Swoo & |

77

133. Date of spring equinox is
(A) 21st March
(Bl 22nd December
[Cy 21stJune
(D) Eﬂrﬂﬁcptcmh:r
134. Heaviest rminfall in the world is
received by
Bangladesh
Cherrapunji

Shillong

(C] Linguist

(D] nene of these.

137. Fort William College was established
in
(A] 1800AD. (B 1801A.D.

(C) 1802 A.D. (D) 1803 AD.
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138, 7% 308 g Fralimm
(A e fefenm femfare
(B) @ g e
(Ch cewr fererm
(D) dom ool An |

139, Sopipy amnd g
(A T
(B) oawed)

(C) (A) @t (B) Eeny

(D) cop = |

140, TiwE
i

(C) =
(D) (A) aa (e

141, REwA-Ae v e s apEEs
il g

(A] tesE o
(B) T

©) fsn Ay

(D) Svea oo o

78

138. The Young Bengal was led by
(A)  Henry Vivian Derozio
(B} Rev. Krishnamohan Banerjea
[C) James Prinsep
\D) none of them, -

139. Womesh Chandra Bonnerjee was a

Moderate
Extremist
Both (A) and (B)

none of these.

6001

141. Hiuen-tsang visited India during the «

reign of
(A} Chandragupta Maurya
{Bl Harshavardhan

[€) Nagabhatta Il
(D) None of them,
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142, qEEFE MEH G 142, Suleiman was a/an
(A] e ol (A) Arab Traveller
(B) French Traveller
(B) Al ol
{C} Chinese Traveller
(C) T ol (D) None of these.
(D) WS | 143. Muhammad Ghori defeated
143, W (i smfers s@iame [A] Prithviraj Chauhan
TR (B] Pulakeshin 1
B) TWEs spwiee (C) Harshavardhan
(C)] T () None r;f them.
(D) o 5 A 144, Igta was a system of
144, ‘T ey fim (A}  Land grants
(A) S T (B} Religious endowment
(B) S (C) Loan
() == Rew (D) None of these,
(D) CoTEE A | 145. Khudkasht was a category of
145, ‘yeeee’ (1 i el o 2 (A} peasants
e A e ' (B) lkings
(B) e [C) nobles
L (D} none of these.
£ @) oERRTR 146.The Harappan Civilization was a
V46, T3 HereE HAAWEE AEen 2 contemporary of
(A) R e (A) Sumerian Civilization
B) Fditn era (B) Egyptian Civilization
(C) i e (C) Greek Civilization
(D) CPHEE W | (D) None of these.
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147 wteras fEww
{A) ufE
B s
[C) (A) &% (B) 5N
(D) (BB = |
148, faferm o
(A) @ Fehy
(B) ANl avdy
(C) =0E quiy
D) CEETIE % )
149, STETEEEM S ST
(A) PEOLCNER 2P
(B] st =
(C) =IANCE e
(D) CoFE =E |
150, Fivod (o) §w on
(A} #F 9% STEFESTER 900
(B) wiee G998 WETESEE W
(C) Tenoria aan wm&rﬁ! El )

(D) OwE e 7

695990
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147, Yajnavalka was a
(A} Saint (Rishi)
(B) Philosopher
[C) Beth |A) and (B}
(D) None of these.
148. Bimbisara belonged to the
(A)  Gupta Dynasty
(B] Maurya Dynasty
(C) Haryanka Dynasty
(D) None of these.
149, Alexander invaded India during the
reign of
(A} Chandragupta Maurya
(B] Dhanananda
(C) Agrammes
(D) None of these.

150, The Battle of Jhelum was fought
between

[A] Porusand Alexander |
(B) Ashoka and Alexander
IC) Bindusara and Alexander

(D] None of them.
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